AQUANT:

SAMOA MONOBLOCK SPARE PARTS

D500 D00

. We reserve the right to change all or part of the features of the articles or contents of this document, without prior notice.
los reservamos el derecho de cambiar la totalida barte de las caracteristicas de los artic ntenid e este documer i



AQUANT:

SAMOA MONOBLOCK SPARE PARTS
D500 D00

Item Spare Parts Code Description Oty Remark
1 T9680-08A M6 Square Bolt 2
2 T5360-21C Rubber Gasket 1
3 T5360-21A Exhaust Body 1
4 TI00SM Pressure Gauge ( O~lbar ) 1
5 T5360-21B Gasket 2
T5360-110 125" Top Mounted Valve 1 T968/T969
6 T9680-060 15" Top Mounted Valve 1 T968/T969
7 T9680-180 MB*45 Stainless Bolt 1
8 T9680-020 Plastic Clamp 2
T5360-16D M6 Stainless Nut 2
10 T5360-16F M6+*80 Stainless Bolt 1
n T5360-070 Handle 1
12 T5360-16C D12*%1.6 Stainless Gasket 1
13 T5360-168B D10*20 Stainless Tube 1
14 T5360-16E ORing 1
T9680-010 D500mm Filter Tank 1 T968
15 T9690-010 D600mm Filter Tank 1 T969
T9680-050 Hose 470mm 1 7968
© T9690-040 Hose 563mm 1 T969
17 T9680-07A Top Collector cover 1
18 T9680-07B Bottom Collector cover 1
9 T9680-120 Tube 35mm 1 T968
T9690-050 Tube 70mm 1 T969
20 T9680-140 M4*20mm Stainless Bolt 4
21 T9680-130 Cover of Collector 8
T9680-030 L110 Collector 8 T968
= T9690-020 L170 Collector 8 T969
T9680-040 Gas Tube 419mm 1 T968
3 T9690-040 Gas Tube 500mm 1 T969
24 T9680-090 Gas Nut 1
25 T9680-08C Plastic Nut 1
26 T9680-08E O-ring 2
27 T9680-08D B 1
28 T9680-08B O-ring 1
29 T9680-11D O-ring 42mm* 32mm 2
30 T9680-11C Male Part 2
31 T9680-11D O-ring 52.8mm* 3mm ) 2
32 T9680-11A 50 Connector 2
33 T9680-11B Nut 2
34 T968C-B20 Hose 1
35 T4080-000 Hose Clamps 4
- PO750 -000 SPARTAQ75 ( 550W/230V ) 1 T968
P1250-000 SPARTAI25 (920W/230V ) 1 T969
- T9680-150 D500mm Filter Tank Base 1 T968
T9690-060 DB00mm Filter Tank Base 1 T969
38 TO68C-BIA M10*25 Nut 2
39 T968C-BIC M10 Gasket 4
40 T968C-BIB M10*7.3 Nut 2

We reserve the right to change all or part of the features of the articles or contents of this document, without prior notice.
Nos reservamos D‘ d:’,‘\'f‘("TC dt? (‘a\'ﬂ‘?\d' a U‘I}‘ CJ}CJ o pdﬂ’f‘ d" as caracteris S CJ(" ‘ﬂ‘,) 3\'?\(‘U‘ﬂf§ ',,L’N“TDH\T{OE \'JC este CJ(",Z,UW“C‘”':C,\, SIN previo aviso.






